SAP ABAP table RJHAISZVB {IS-PAM: Update structure for JHAISZ}
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RJHAISZVB BANKL = BNKA-BANKL
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MANDT [CLNT (3)]
BANKS [CHAR (3)]
BANKL [CHAR (15)]
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MANDT [CLNT (3)]
GPNR [CHAR (10)]
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MANDT [CLNT (3)]
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RJHAISZVB-AVM NR = JHAKAVM NR
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--"T7 AVM_NR [CHAR (10)]
RJHAISZVB-POS_NR = JHAP-POS_NR
- Tl JHAP
0..N' "'MANDT [CLNT (3)]
e AVM_NR [CHAR (10)]
RJHAISZVB-INSERENT = JJVDB_MK_FK-GPNR POS_NR [NUMC (3)]
Pt 4 [WIVDB_MK_FK
e MANDT [CLNT (3)]
GPNR [CHAR (10)]
RJHAISZVB-MANDT = T000-MANDT
T 0.N T000
el MANDT [CLNT (3)]
RJHAISZVBBANKS = TOOSIANDI _ T005
I 0..N "MANDT [CLNT (3)]
P LAND1 [CHAR (3)]
7 T006
RJHAISZVB-KARENZ ME = T006-MSEHI
R 0..N' | MANDT [CLNT (3)]
P MSEHI [UNIT (3)]
LT T042Z
o MANDT [CLNT (3)]
RJHAISZVB-ZLSCH = T042Z-ZLSCH - 0-N [TANDI ICHAR 3]
T ZLSCH [CHAR (1)]
- T151
- MANDT [CLNT (3)]
RJHAISZVB-KDGRP = T151-KDGRP ON
o ---- ™ [KDGRP [CHAR (2)]
IS T188
______________ RJHAISZVB-KONDA = TI8KONDA _______________ [WANDT [CINT (3]
RJHAISZVB-PLTYP = T189-PLTYP 2
———e KONDA [CHAR (2)]
e T189
- RJHAISZVB-BRAN1 = TBRC-BRACO 0.N [ DACIIE)
el PLTYP [CHAR (2)]
el TBRC
RJHAISZVB-WAERG = TCURC-WAERS 0..N |MANDT [CLNT (3)]
S BRACO [CHAR (10)]
el TCURC
Tl | MANDT [CLNT (3)]
RJHAISZVB-KURST = TCURV-KURST 0N WAERS [CUKY (3)]
sl TCURV
Tl MANDT [CLNT (3)]
T Te - e——=mT 0-.N [KURST [CHAR (4)]
RJHAISZVB-PERFK = TFACD-IDENT
o TFACD
S~ IDENT [CHAR (2)]
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\ _ RJHAISZVB-DATE_GEN RULE BI = TJHGENBI-DATE GEN RULE BI TJHGENBI
S MANDT [CLNT (3)]
Sl DATE_GEN_RULE_BI [CHAR (2)]
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RJHAISZVB-KUKARR K = TJJ95-KUKARR TJ)95
S MANDT [CLNT (3)]
o o.n |KUKARR [CHAR (2)]
RJHAISZVB-CCINS = TVCIN-CCINS TVCIN
S MANDT [CLNT (3)]
N 0. |CCINS [CHAR (4)]
RJHAISZVB-FAKSPP = TVFS-FAKSP TVFS
. MANDT [CLNT (3)]
L g [FAKSE [CHAR (2)]
RJHAISZVB-KALKS = TVKD-KALKS notde
RN MANDT [CLNT (3)]
\ ~
' N oy |KALKS [CHAR (1)
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\ T e - - --- VCNUM
. RJHAISZVB-CCNUM = VCNUM-CCNUM
. MANDT [CLNT (3)]
- CCINS [CHAR (4)]
- 92N | CCNUM [CHAR (25)]



